Aol & AL g A A
20178 =3 3 3| detel A, JIESE 2
fA: sLIsdH
& 200 Mi2l=¢l
2 210 24 HM2 =8
Ej 211 Moty O =& (cte &
SA-&-2-8.-5 O &4 I EH Hns
3 A 8,134,381 8,334,208 199,827
seIlsdH 8,134,381 8,334,208 A 199,827
200 Al2l=+=¢l 100,359 38,353 62,006
210 ZYH M2 +¢ 96,506 34,500 62,006
211 A= 70,006 8,000 62,006
211-02 SFMHAL U= 70,006 8,000 62,006
OCEIMA HEE (sF4) 66,406 4,400 62,006
500 Ex= 8,034,022 8,295,855 261,833
510 = 112X 38 6,281,564 6,531,671 A 250,107
511 2 12x3S 6,281,564 6,531,671 A 250,107
511-01 =212 %= 5,671,639 5,963,223 A 291,584
Os=s4&n(=2) 345,263 549,638 204,375
— =Yg 435 A& 112,333 122,308 A9,975
—4X2 243 A 5,600 200,000 194,400
OsXolg2el N (H8A) 26,749 0 26,749
sENEH(Z1) 655,855 659,414 A 3,559
— 2N E X=X 11,374 14,933 A 3,559
Osdllzn(=1) 4,643,772 4,754,171 A 110,399
—X2A=2dA=ES 539,920 388,000 151,920
—AASEANINEN=S 2,714,215 2,971,518 A 257,303
—2=sg H=E= 145,761 150,777 A5,016
511-03 Jl= 434,925 393,448 41,477
Os=41(013) 399,527 358,050 41,477
—SSYMY 2d(Adl) 65,816 60,750 5,066
—3sENY 2d(2gl) 79,522 73,11 6,411
—tE2R Faes 30,000 0 30,000
520 Al - EHIEXSS 1,752,458 1,764,184 A11,726
521 Al - CTHIEEXESS 1,752,458 1,764,184 A11,726
521-01 Al - ZHIE XSS 1,752,458 1,764,184 AT11,726
Os=4(EHl) 644,860 627,084 17,776
—sga Nz HE N3 57,480 45,570 11,910
-SYUsE ¥YFde AEE ALY NA MY 6,000 0 6,000
—HAsMIEAXJIAMS (EHI) 5,000 0 5,000
- =89 93 A& 31,073 32,351 A1,278
—4X2 243 A2 700 25,000 £24,300
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